SC-CLB-SC-SLB EEIR

IRER - WA - RE

Jiwata TOHATSU

(oHs) [sus)

wa | RE F B
S45C | 2 | |E{TBAA(RE)2E
SUS304| - | IEfT#B%(SUS)2E
o~ N .7i7.
° | 2
al o T 1T
Q Q
L1
. L+0.1
|
R ,j,i,l
oc|>H ?
Al m
Q Q
L1
. L+0.1
S45C SUS304 PN
= B = B HEEE B D. L L. D M
SC0609CLB1 SC0609SLB1 60677 8.4 9 4 12 M3x3
SC0609CLB2| ~ SC0609SLB2| -~ 62677 6 9.2 9 4 12 M3x3
SC0609CLB3 SC0609SLB3 69677 8 9 4 12 M3x3
SC0809CLB1 SC0809SLB1 60827 11.7 9 4 14 M3x3
SC0809CLB2| .~ SC0809SLB2| A 62877 8 13.2 9 4 15 M3x3
SC0809CLB3 SC0809SLB3 69877 11.2 9 4 14 M3x3
SC1009CLB1 SC1009SLB1 600027 14.7 9 4 16 M3x3
%SC1009CLB2 A |¥SC1009SLB2 N 620027 10 17.2 9 6.5 - M3x3
SC1009CLB3 SC1009SLB3 690077 14.2 9 4 16 M3x3
SC1210CLB1 SC1210SLB1 600177 17.2 10 4 19 M4x3
%SC1210CLB2| ~ |¥¢SC1210SLB2 A 620127 12 18.7 10 7 - M4x3
SC1210CLB3 SC1210SLB3 690177 16.2 10 4 19 M4x3
SC1510CLB1 SC1510SLB1 600277 20.2 10 4 22 M4x3
%SC1510CLB2| ~  |¥SC1510SLB2| A 620277 15 21.7 10 7 - M4 x3
SC1510CLB3 SC1510SLB3 690277 19.2 10 4 22 M4x3
SC1710CLB1 SC1710SLB1 600327 222 10 4 24 M4x3
%SC1710CLB2| ~ |%SC1710SLB2| -~ 620377 17 24.2 10 7 - M4x3
SC1710CLB3 SC1710SLB3 690377 21.2 10 4 24 M4x3
SC2012CLB1 ~ SC2012SLB1 ~ 600427 20 27.2 12 5 29 M5x4
¥¢SC2012CLB2 7SC2012SLB2 620427 29.2 12 8.5 - M5x4




SC-CLB - SC-SLB EER

IRER - WA - RE

Jiwata TOHATSU

S45C

SUS304

IrE A
B E B = E& BE A B D: L L1 D M
SC2012CLB3| ~ SC2012SLB3| A 690477 20 25.2 12 5 29 M5x4
SC2512CLB1 SC2512SLB1 600527 31.7 12 5 34 M5x4
%SC2512CLB2| 4  |¥SC2512SLB2| A 620527 25 33.2 12 8.5 - M5x4
SC2512CLB3 SC2512SLB3 690527 30.2 12 5 34 M5x4
SC3014CLB1 SC3014SLB1 600627 382 14 6 41 M6x5
%SC3014CLB2| ~ |%SC3014SLB2| -~ 620677 30 40.2 14 10 - M6x5
SC3014CLB3 SC3014SLB3 690677 35.2 14 6 41 M6x5
SC3514CLB1 SC3514SLB1 6007772 4322 14 6 46 M6x5
%SC3514CLB2 A |¥¢SC3514SLB2 VAN 620727 35 46.2 14 10 - M6x5
SC3514CLB3 SC3514SLB3 690777 41.2 14 6 46 M6x5
SC4014CLB1 SC4014SLB1 600877 48.2 14 6 51 M6x5
¥rSC4014CLB2| ~ [¥rSC4014SLB2| -~ 620877 40 52.2 14 10 - M6x5
SC4014CLB3 SC4014SLB3 690827 46.2 14 6 51 M6x5
600927
SC4516CLB1 A SC4516SLB1 A 690977 45 50 16 6 57 M8x6
SC4516CLB2 SC4516SLB2 620977 53 16 6 57 M8x6
601077
SC5016CLB1 ~ SC5016SLB1 N 291027 50 56 16 6 62 M8x6
SC5016CLB2 SC5016SLB2 621077 59 16 6 62 M8x6
601177
SC5516CLBL SC5516SLB1) 91177 o 62.5 16 6 69 M8x6
SC5516CLB2 SC5516SLB2 6211727 66 16 6 69 M8x6
@ s i[85 ] o6 [G]E
S ) (00 ) AT U slE . oo 9 AR -
Yo 2 B2 (BAE=IME) B9FZAR SC0609CLBL

- BBERMINE TS - BATIMER
REH/  BERNEAZ BER




